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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2013 C L«X, 2014 

a]ÁL◊[˝VÓÁ¯ ( Sociology ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

aä] Yy ( 7th Paper : Social Demography and  
Social Change ) 

a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) %ÁW˝«◊XEı›EıÃ[˝S A[˝e ◊`îÁÃ̂ „XÃ[˝ ]ÁW˝Ó„] aÁ]Á◊LEı 

Y◊Ã[˝[˝Tˆ¤X„Eı [˝ÓÁFÓÁ EıÃ[˝”X* 

 (F) EıÁ]Ó LXaeFÓÁ Tˆ√º¯ Eı› ? Ac˜O Tˆ√º¯◊ªRÙOÃ[˝ Y“[˝N˛Á ÂEı ? 

]ÓÁ_U«a›Ã^ LXaeFÓÁTˆ„√º¯Ã[˝ a„Ü AÃ[˝ YÁUÔEıÓ ◊X„V¤` 

EıÃ[˝”X* 

 (G) aÁ]Á◊LEı Y◊Ã[˝[˝Tˆ¤„XÃ[˝ %UÔ Eı› ? AÃ[˝ Â\ˆÏ„GÁ◊_Eı 

=YÁVÁXm◊_Ã[˝ Y“\ˆÁ[˝ a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (H) LX◊[˝„ÿˆïıÁÃ[˝S [˝_„Tˆ Eı› Â[˝Á„MıX ? LX◊[˝„ÿˆïıÁÃ[˝S  

◊XÃ^‹óˆ„SÃ[˝ LXÓ \ˆÁÃ[˝„Tˆ aÃ[˝EıÁÃ[˝›\ˆÁ„[˝ Eı› Eı› W˝Ã[˝„XÃ[˝ 

Y“‰ªJÙrÙÁ G–c˜S EıÃ[˝Á c˜„Ã^‰ªK˜ ? Am◊_Ã[˝ EıÁ^ÔEıÃ[˝› Y“\ˆÁ[˝ 

a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) ◊[˝Y¿[˝ aeHªRÙO„X %Á[˝◊`ÓEı `Tˆ¤m◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(F) LXaeFÓÁÃ[˝ %ÁEıÁÃ[˝ [˝_„Tˆ %Á]Ã[˝Á Eı› [˝«◊Mı ? 

(G) %XG–aÃ[˝ ÂV`m◊_„Tˆ =¨JÙ LXΩc˜Á„Ã[˝Ã[˝ Y∏JÙÁdY‰ªRÙO Eı› 
Eı› EıÁÃ[˝S Ã[˝„Ã^‰ªK˜ ? 

(H) a]ÁL ◊[˝[˝Tˆ¤„X %[˝EıÁ`„\ˆÁG› Ê`“S›Ã[˝ \…ˆ◊]EıÁ Eı› ? 

 (I¯) Ê`“S›aeG–Á] EıÁ„Eı [˝„_ ? a]Á„L A„VÃ[˝ EıÁ^ÔW˝ÁÃ[˝Á 
Eı›Ã[˝÷Y ? 

 (ªªJÙ) %Á◊V] aÁ]Ó[˝ÁV› a]ÁL Eı› ? 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) %ÁW˝«◊XEı›EıÃ[˝S EıÁ„Eı [˝„_ ? 

(F) aÁ]‹ôˆa]ÁL [˝_„Tˆ Eı› Â[˝Á„MıX ? 

(G) LXGSXÁÃ[˝ =„ï`Ó Eı› ? 

(H) a«Y“LXX ◊[˝VÓÁ [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? 

(I¯) Yt›EıÃ[˝S EıÁ„Eı [˝„_ ? 

(ªªJÙ˜) Y“^«◊N˛◊[˝VÓÁ Eı› ? 

(ªK˜) =[˝ÔÃ[˝TˆÁ EıÁ„Eı [˝„_ ? 

(L) =~Ã^X [˝_„Tˆ %Á]Ã[˝Á Eı› [˝«◊Mı ? 
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1. Answer any two questions : 20 × 2 = 40 

(a) Explain the affairs of social change through 

Modernization and Industrialization. 

(b) What is the theory of optimum population ? 

Who is the pioneer of this theory ? State its 

differences with Malthusian population 

theory. 

(c) What is meant by social change ? Discuss 

the influence of geographical constituents 

on it. 

(d) What do you understand by the term 

'population explosion' ? What are the 

measures taken up at the governmental 

level in India to control the population 

explosion ? Discuss the effective influence 

of these.  

2. Answer any three questions  : 12 × 3 = 36 

(a) Discuss the essential conditions for the 

occurrence of revolution. 

(b) What do we understand by the size of 

population ? 

(c) What are the reasons behind the high birth 

rate in the backward countries ? 

(d) What are the roles of leisure class of people 

in the social evolution ? 

(e) What is class struggle ? What are the 

activities of these in society ? 

(f) What is primitive communistic society ? 

3. Answer any four questions  : 6 × 4 = 24 

(a) What is Modernization ? 

(b) What do you understand by Feudal   

Society ? 

(c) What is the purpose of population census ? 

(d) What is Eugenics ? 

(e) What is meant by Registration ? 

(f) What is Technology ? 

(g) What is Fertility ? 

(h) What do we understand by Development ? 

    


